

Global Exponential Stability of Cellular Neural Network with Discrete and Distributed Delays

Junfeng Cui ⁺

College of Mathematics and Physics, Huaiyin Institute of Technology, Jiangsu Huaiyin, 223001 P.R. China

(Received September 6, 2010, accepted December 20, 2010)

Abstract. This paper is concerned with analysis problem for the global exponential stability of a class of recurrent neural networks (RNNs) with mixed discrete and distributed delays. We give the sufficient condition of global exponential stability of cellular neural network with mixed discrete and distributed delays by employing the Lyapunov-Krasovskii functional and Young inequality, in addition, the example is provided to illustrate the applicability of the result.

Keywords: Global exponential stability; cellular neural network; discrete and distributed delays; Lyapunov-Krasovskii functional; Young inequality

1. Introduction

Cellular neural network (CNN) has become a new discipline branch since the Chua and Yang of California University proposed the CNN in 1988. The main function of CNN is about to change an input image into a corresponding output image, in order to accomplish this feature, we must first concern the stability of system. The various generalizations of neural networks have attracted attention of the scientific community due to their promising potential for tasks of classification, associative memory, parallel computation and the ability to difficult optimization [1-5]. Such applications rely on the existence of equilibrium points and the qualitative properties of neural networks. The time delay is commonly existed in various engineering systems such as chemical processes, hydraulic and rolling mill systems, etc[6-10]. These effects are unavoidably existed in the implementation of neural networks, and may cause undesirable dynamic network behaviors such as oscillation and instability. Therefore, it is important to investigate the stability of delayed neural networks. The stability analysis of neural networks plays an important role in the designs and applications. A large number of the criteria on the stability of neural networks have been derived in the literature. Neural network usually has a spatial nature due to the presence of various parallel pathways with a variety of axon sizes and lengths, so it is desirable to model them by introducing unbounded delays [11-15]. Thus, there will be a distribution of conduction velocities along these pathways and a distribution of propagation delays. In recent years there has been a growing research interest in study of neural networks with distributed delays. In fact, both discrete and distributed delays should be taken into account when modeling a realistic neural network [16-20]. Based on the above discussions, we consider a class of mixed discrete and distributed delays cellular neural network described by a neutral integro-differential equation. The main purpose of this paper is to study the global exponential stability for neutral-type delayed neural networks with unbounded distributed delays. The paper is organized as follows: In Section 2, System Description and Preliminaries are stated and some definitions and lemmas are listed. Based on the Lyapunov stability theory and Young inequality, theorems and corollary about global exponential stability of multi-delay and distributed delay cellular neural network in Section 3. We give the conclusion of this paper in Section 4.

2. Problem formulation

Consider the following multi-delay and distributed delay cellular neural network model:

⁺ Corresponding author. E-mail address: cjfxm@yahoo.com.cn

$$\dot{x}_i(t) = -d_i x_i(t) + \sum_{j=1}^n a_{ij} f_j(x_j(t)) + \sum_{j=1}^n c_{ij} \int_{-\infty}^t K_{ij}(t-s) h_j(x_j(s)) ds + \sum_{j=1}^n b_{ij} g_j(x_j(t-\tau_{ij}(t))) + I_i, i=1,2,\dots,n \quad (2.1)$$

where $\phi_i(\theta)$ is bounded and continuous in the sub $[0, \infty)$, n is the number of the neurons in the neural network, the constants a_{ij} , b_{ij} and c_{ij} denote, respectively, the connection weights, the discretely delayed connection weights and the distributively delayed connection weighted, of the j th neuron on the i th neuron. $x_i(t)$ denotes the state of the i th neural neuron at time t , $f_j(x_j(t))$, $g_j(x_j(t))$ and $h_j(x_j(t))$ are the activation functions of the j th neuron at time t , I_i is the external bias on the i th neuron, d_i denotes the rate with which the i th neuron will reset its potential to the resting state in isolation when disconnected from the network and external inputs. $\tau_{ij} \geq 0$ is a bounded time-varying delay, the kernel function $K_{ij}: [0, \infty) \rightarrow [0, \infty)$ is continuous in the sub $[0, \infty)$, and satisfies $\int_0^\infty K_{ij}(s) ds = 1, i, j = 1, 2, \dots, n$, the initial situation is $x_i(\theta) = \phi_i(\theta)$, $\rho = \max(\tau_{ij}(t))$, $-\rho \leq \theta \leq 0$.

Definition 1. x_i^* ($i = 1, 2, \dots, n$) is the equilibrium point of (2.1) associated with a given I_i ($i = 1, 2, \dots, n$) is said to be globally exponentially stable, if there are positive constants $k > 0$ and $\mu > 0$ such that every solution x_i^* ($i = 1, 2, \dots, n$) of (2.1) satisfies as follows

$$|x_i(t) - x_i^*| \leq \mu e^{-kt} \sup_{-\rho \leq \theta \leq 0} |\phi_i(\theta) - x_i^*|, \forall t > 0.$$

Definition 2. $\forall \phi(\theta) \in C([- \rho, 0], R^n)$, we define

$|\phi| = \max \{ \|\phi(\theta)\| : \theta \in [- \rho, 0] \}$, then we can get as follows

$$\|\phi - x^*\|_r^r = \sup_{-\infty \leq \theta \leq 0} \sum_{i=1}^n |\phi_i(\theta) - x_i^*|^r, r > 1$$

Assumption 1. (A1) For $i = 1, 2, \dots, n$, the neuron activation functions in (2.1) satisfy

$$|f_j(s_1) - f_j(s_2)| \leq \alpha_j^+ |s_1 - s_2|, |g_j(s_1) - g_j(s_2)| \leq \beta_j^+ |s_1 - s_2|, |h_j(s_1) - h_j(s_2)| \leq \gamma_j^+ |s_1 - s_2|, \forall s_1 \neq s_2$$

where α_j^+ , β_j^+ , γ_j^+ are constants.

Assumption 2. (A2)

The neuron activation functions $f_j(x_j(t))$, $g_j(x_j(t))$, $h_j(x_j(t))$ $j = 1, 2, \dots, n$ are bounded.

Lemma 1 [21] (Rogers-Holder Inequality)

if $p > 1, \frac{1}{p} + \frac{1}{q} = 1$, and $a_k > 0, b_k > 0$ ($k = 1, 2, \dots, n$), Then

$$\sum_{k=1}^n a_k b_k \leq \left(\sum_{k=1}^n a_k^p \right)^{\frac{1}{p}} \left(\sum_{k=1}^n b_k^q \right)^{\frac{1}{q}}$$

Lemma 2 [22] (Young Inequality) if $e > 0, h > 0, P > 1, \frac{1}{P} + \frac{1}{q} = 1$, then we can get

$$eh \leq \frac{1}{p} e^p + \frac{1}{q} h^q = \frac{1}{p} e^p + \frac{p-1}{p} h^{\frac{p}{p-1}}$$

3. Main results and proofs

Theorem 3.1. f_j, g_j, h_j are Lipschitz continuous and $\dot{\tau}_{ij}(t) < 0$, if there are constants $r, \omega_i, q_{ij}, n_{ij}, h_{ij}, j_{ij}, l_{ij}, p_{ij}, q_{ji}, n_{ji}, h_{ji}, j_{ji}, l_{ji}, p_{ji} \in R$ ($i = 1, 2, \dots, n$), $\omega_i > 0, r \geq 1$ (when $r = 1$, we must let $q_{ij} = n_{ij} = h_{ij} = j_{ij} = l_{ij} = p_{ij} = q_{ji} = n_{ji} = h_{ji} = j_{ji} = l_{ji} = p_{ji} = 1$),

$$\begin{aligned}
& -\omega_i r d_i + (r-1) \sum_{j=1}^n \omega_i |a_{ij}|^{\frac{r-q_{ij}}{r-1}} |\alpha_j^+|^{\frac{r-n_{ij}}{r-1}} + \sum_{j=1}^n \omega_i |a_{ij}|^{q_{ij}} |\alpha_j^+|^{n_{ij}} + (r-1) \sum_{j=1}^n \omega_i |b_{ij}|^{\frac{r-h_{ij}}{r-1}} |\beta_j^+|^{\frac{r-j_{ij}}{r-1}} \\
& + (r-1) \sum_{j=1}^n \omega_i |c_{ij}|^{\frac{r-l_{ij}}{r-1}} |\gamma_j^+|^{\frac{r-p_{ij}}{r-1}} + \sum_{j=1}^n \omega_i |c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} + \sum_{j=1}^n \omega_i |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} + \sum_{j=1}^n \omega_i |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r < 0
\end{aligned}$$

Then, the equilibrium point of multi-delay and distributed delay cellular neural network x^* is global exponential stability.

Proof. We shift the equilibrium point $x^* = (x_1^*, x_2^*, \dots, x_n^*)^T$ of (2.1) to the equation

$$u(t) = x(t) - x^* = [u_1(t), u_2(t), \dots, u_n(t)]^T$$

Thus we can get as follows

$$\dot{u}_i(t) = -d_i u_i(t) + \sum_{j=1}^n a_{ij} f_j^\varepsilon(u_j(t)) + \sum_{j=1}^n b_{ij} g_j^\varepsilon(u_j(t - \tau_{ij}(t))) + \sum_{j=1}^n c_{ij} \int_{-\infty}^t K_{ij}(t-s) h_j^\varepsilon(u_j(s)) ds \quad (3.1)$$

where

$$\begin{aligned}
f_j^\varepsilon(u_j(t)) &= f_j(u_j(t) + x_j^*) - f_j(x_j^*), \quad g_j^\varepsilon(u_j(t)) = g_j(u_j(t) + x_j^*) - g_j(x_j^*), \\
h_j^\varepsilon(u_j(t)) &= h_j(u_j(t) + x_j^*) - h_j(x_j^*),
\end{aligned} \quad (3.2)$$

We design the following Lyapunov functional

$$\begin{aligned}
V(u, t) &= \sum_{i=1}^n \omega_i \left\{ |u_i(t)|^r e^{\varepsilon t} + \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} \int_{t-\tau_{ij}}^t |u_j(s)|^r e^{\varepsilon(s+\tau_{ij}(t))} ds \right. \\
&\quad \left. + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} \int_{t-\tau_{ij}}^t |g_j(u_j(\xi))|^r e^{\varepsilon(\xi+\tau_{ij}(t))} d\xi + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r \int_0^t |u_j(s - \tau_{ij})|^r e^{\varepsilon s} ds \right\}
\end{aligned}$$

By (3.1), we calculate the Dini upper right derivative of the solution $V(u, t)$,

$$\begin{aligned}
D^+ V(u, t) &= \sum_{i=1}^n \omega_i \left\{ e^{\varepsilon t} [\varepsilon |u_i(t)|^r + r |u_i(t)|^{r-1} \text{sign}(u_i(t)) \dot{u}_i(t)] \right. \\
&\quad + e^{\varepsilon t} \left[\sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t)|^r e^{\varepsilon \tau_{ij}(t)} - \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij})|^r (1 - \dot{\tau}_{ij}(t)) \right] \\
&\quad + e^{\varepsilon t} \left[\sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r e^{\varepsilon \tau_{ij}(t)} - \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t - \tau_{ij}))|^r (1 - \dot{\tau}_{ij}(t)) \right] \\
&\quad \left. + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r e^{\varepsilon t} |u_j(t - \tau_{ij})|^r + \sum_{j=1}^n |u_j(-\tau_{ij})|^r \dot{\tau}_{ij}(t) \right\}
\end{aligned}$$

By $\dot{\tau}_{ij}(t) \leq 0$,

$$\begin{aligned}
D^+V(u, t) &\leq \sum_{i=1}^n \omega_i \left\{ e^{\varepsilon t} [\varepsilon |u_i(t)|^r + r |u_i(t)|^{r-1} \text{sign}(u_i(t)) \dot{u}_i(t)] \right. \\
&\quad + e^{\varepsilon t} \left[\sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t)|^r e^{\varepsilon \tau_{ij}(t)} - \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij})|^r \right] \\
&\quad + e^{\varepsilon t} \left[\sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r e^{\varepsilon \tau_{ij}(t)} - \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t - \tau_{ij}))|^r \right] \\
&\quad \left. + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r e^{\varepsilon t} |u_j(t - \tau_{ij})|^r \right\} \\
&\leq \sum_{i=1}^n \omega_i \left\{ e^{\varepsilon t} [\varepsilon |u_i(t)|^r + r |u_i(t)|^{r-1} \text{sign}(u_i(t)) (-d_i u_i(t) + \sum_{j=1}^n a_{ij} f_j^\varepsilon(u_j(t)) \right. \\
&\quad + \sum_{j=1}^n b_{ij} g_j^\varepsilon(u_j(t - \tau_{ij}(t))) + \sum_{j=1}^n c_{ij} \int_{-\infty}^t K_{ij}(t-s) h_j^\varepsilon(u_j(s)) ds)] \\
&\quad + e^{\varepsilon t} \left[\sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t)|^r e^{\varepsilon \tau_{ij}(t)} - \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij})|^r \right] \\
&\quad + e^{\varepsilon t} \left[\sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r e^{\varepsilon \tau_{ij}(t)} - \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t - \tau_{ij}))|^r \right] \\
&\quad \left. + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r e^{\varepsilon t} |u_j(t - \tau_{ij})|^r \right\} \\
&\leq e^{\varepsilon t} \sum_{i=1}^n \omega_i \left\{ (\varepsilon - r d_i) |u_i(t)|^r + r \sum_{j=1}^n |a_{ij}| |\alpha_j^+| |u_i(t)|^{r-1} |u_j(t)| \right. \\
&\quad + r \sum_{j=1}^n |b_{ij}| |\beta_j^+| |u_i(t)|^{r-1} |u_j(t - \tau_{ij}(t))| + r \sum_{j=1}^n |c_{ij}| |\gamma_j^+| |u_i(t)|^{r-1} |u_j(t)| \\
&\quad + \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t)|^r e^{\varepsilon \tau_{ij}(t)} - \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij})|^r \\
&\quad + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r e^{\varepsilon \tau_{ij}(t)} - \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t - \tau_{ij}))|^r \\
&\quad \left. + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r |u_j(t - \tau_{ij})|^r \right\}
\end{aligned}$$

1. when $r > 1$, by Young inequality

$$\begin{aligned}
&r \sum_{j=1}^n |a_{ij}| |\alpha_j^+| |u_i(t)|^{r-1} |u_j(t)| \\
&= r \sum_{j=1}^n \left[|a_{ij}|^{\frac{r-q_{ij}}{r-1}} |\alpha_j^+|^{\frac{r-n_{ij}}{r-1}} |u_i(t)|^r \right]^{\frac{r-1}{r}} \left[|a_{ij}|^{q_{ij}} |\alpha_j^+|^{n_{ij}} |u_j(t)|^r \right]^{\frac{1}{r}} \\
&\leq r \sum_{j=1}^n \left[|a_{ij}|^{\frac{r-q_{ij}}{r-1}} |\alpha_j^+|^{\frac{r-n_{ij}}{r-1}} |u_i(t)|^r \right]^{\frac{r-1}{r}} \left[|a_{ij}|^{q_{ij}} |\alpha_j^+|^{n_{ij}} |u_j(t)|^r \right]^{\frac{1}{r}} \\
&\leq (r-1) \sum_{j=1}^n \left[|a_{ij}|^{\frac{r-q_{ij}}{r-1}} |\alpha_j^+|^{\frac{r-n_{ij}}{r-1}} |u_i(t)|^r \right] + \sum_{j=1}^n \left[|a_{ij}|^{q_{ij}} |\alpha_j^+|^{n_{ij}} |u_j(t)|^r \right] \tag{3.3}
\end{aligned}$$

$$\begin{aligned}
& r \sum_{j=1}^n |b_{ij}| |\beta_j^+| |u_i(t)|^{r-1} |u_j(t - \tau_{ij}(t))| \\
&= r \sum_{j=1}^n \left[|b_{ij}|^{\frac{r-h_{ij}}{r-1}} |\beta_j^+|^{\frac{r-j_{ij}}{r-1}} |u_i(t)|^r \right]^{\frac{r-1}{r}} \left[|b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij}(t))|^r \right]^{\frac{1}{r}} \\
&\leq r \sum_{j=1}^n \left[|b_{ij}|^{\frac{r-h_{ij}}{r-1}} |\beta_j^+|^{\frac{r-j_{ij}}{r-1}} |u_i(t)|^r \right]^{\frac{r-1}{r}} \left[|b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij}(t))|^r \right]^{\frac{1}{r}} \\
&\leq (r-1) \sum_{j=1}^n \left[|b_{ij}|^{\frac{r-h_{ij}}{r-1}} |\beta_j^+|^{\frac{r-j_{ij}}{r-1}} |u_i(t)|^r \right] + \sum_{j=1}^n \left[|b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij}(t))|^r \right] \quad (3.4)
\end{aligned}$$

and

$$\begin{aligned}
& r \sum_{j=1}^n |c_{ij}| |\gamma_j^+| |u_i(t)|^{r-1} |u_j(t)| \\
&= r \sum_{j=1}^n \left[|c_{ij}|^{\frac{r-l_{ij}}{r-1}} |\gamma_j^+|^{\frac{r-p_{ij}}{r-1}} |u_i(t)|^r \right]^{\frac{r-1}{r}} \left[|c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} |u_j(t)|^r \right]^{\frac{1}{r}} \\
&\leq r \sum_{j=1}^n \left[|c_{ij}|^{\frac{r-l_{ij}}{r-1}} |\gamma_j^+|^{\frac{r-p_{ij}}{r-1}} |u_i(t)|^r \right]^{\frac{r-1}{r}} \left[|c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} |u_j(t)|^r \right]^{\frac{1}{r}} \\
&\leq (r-1) \sum_{j=1}^n \left[|c_{ij}|^{\frac{r-l_{ij}}{r-1}} |\gamma_j^+|^{\frac{r-p_{ij}}{r-1}} |u_i(t)|^r \right] + \sum_{j=1}^n \left[|c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} |u_j(t)|^r \right] \quad (3.5)
\end{aligned}$$

By (3.3), (3.4) and (3.5), we can obtain

$$\begin{aligned}
& D^+V(u, t) \\
&\leq e^{\varepsilon t} \sum_{i=1}^n \omega_i \left\{ (\varepsilon - rd_i) |u_i(t)|^r + (r-1) \sum_{j=1}^n |a_{ij}|^{\frac{r-q_{ij}}{r-1}} |\alpha_j^+|^{\frac{r-n_{ij}}{r-1}} |u_i(t)|^r \right. \\
&\quad + \sum_{j=1}^n |a_{ij}|^{q_{ij}} |\alpha_j^+|^{n_{ij}} |u_j(t)|^r + (r-1) \sum_{j=1}^n |b_{ij}|^{\frac{r-h_{ij}}{r-1}} |\beta_j^+|^{\frac{r-j_{ij}}{r-1}} |u_i(t)|^r \\
&\quad + \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij}(t))|^r + (r-1) \sum_{j=1}^n |c_{ij}|^{\frac{r-l_{ij}}{r-1}} |\gamma_j^+|^{\frac{r-p_{ij}}{r-1}} |u_i(t)|^r \\
&\quad + \sum_{j=1}^n |c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} |u_j(t)|^r + \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t)|^r e^{\varepsilon \rho} \\
&\quad - \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t - \tau_{ij}(t))|^r + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r e^{\varepsilon \rho} \\
&\quad - \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r - \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t - \tau_{ij}(t)))|^r \\
&\quad \left. + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r |u_j(t - \tau_{ij}(t))|^r \right\}
\end{aligned}$$

$$\begin{aligned}
& \leq e^{\varepsilon t} \sum_{i=1}^n \omega_i \left\{ (\varepsilon - rd_i) |u_i(t)|^r + (r-1) \sum_{j=1}^n |a_{ij}|^{\frac{r-q_{ij}}{r-1}} |\alpha_j^+|^{\frac{r-n_{ij}}{r-1}} |u_i(t)|^r \right. \\
& \quad + \sum_{j=1}^n |a_{ij}|^{q_{ij}} |\alpha_j^+|^{n_{ij}} |u_j(t)|^r + (r-1) \sum_{j=1}^n |b_{ij}|^{\frac{r-h_{ij}}{r-1}} |\beta_j^+|^{\frac{r-j_{ij}}{r-1}} |u_i(t)|^r \\
& \quad + \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t-\tau_{ij}(t))|^r + (r-1) \sum_{j=1}^n |c_{ij}|^{\frac{r-l_{ij}}{r-1}} |\gamma_j^+|^{\frac{r-p_{ij}}{r-1}} |u_i(t)|^r \\
& \quad + \sum_{j=1}^n |c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} |u_j(t)|^r + \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t-\tau_{ij})|^r - \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} |u_j(t-\tau_{ij})|^r \\
& \quad + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r e^{\varepsilon \rho} + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t))|^r \\
& \quad \left. - \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |g_j(u_j(t-\tau_{ij}))|^r + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r |u_j(t-\tau_{ij})|^r \right\} \\
& \leq e^{\varepsilon t} \sum_{i=1}^n \omega_i \left\{ (\varepsilon - rd_i) + (r-1) \sum_{j=1}^n |a_{ij}|^{\frac{r-q_{ij}}{r-1}} |\alpha_j^+|^{\frac{r-n_{ij}}{r-1}} + \sum_{j=1}^n |a_{ij}|^{q_{ij}} |\alpha_j^+|^{n_{ij}} \right. \\
& \quad + (r-1) \sum_{j=1}^n |b_{ij}|^{\frac{r-h_{ij}}{r-1}} |\beta_j^+|^{\frac{r-j_{ij}}{r-1}} + (r-1) \sum_{j=1}^n |c_{ij}|^{\frac{r-l_{ij}}{r-1}} |\gamma_j^+|^{\frac{r-p_{ij}}{r-1}} + \sum_{j=1}^n |c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} \\
& \quad \left. + \sum_{j=1}^n |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} e^{\varepsilon \rho} + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r e^{\varepsilon \rho} + \sum_{j=1}^n |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r \right\} |u_i(t)|^r < 0
\end{aligned}$$

2, when $r=1$, we must let

$$q_{ij} = n_{ij} = h_{ij} = j_{ij} = l_{ij} = p_{ij} = q_{ji} = n_{ji} = h_{ji} = j_{ji} = l_{ji} = p_{ji} = 1 \quad (i, j = 1, 2, \dots, n),$$

$$\begin{aligned}
& D^+V(u, t) \\
& \leq e^{\varepsilon t} \sum_{i=1}^n \omega_i \left[(\varepsilon - rd_i) + \sum_{j=1}^n |a_{ij}| |\alpha_j^+| + \sum_{j=1}^n |c_{ij}| |\gamma_j^+| + \sum_{j=1}^n |c_{ij}| |\gamma_j^+| |\beta_j^+| + \sum_{j=1}^n |b_{ij}| |\beta_j^+| e^{\varepsilon \tau_{ij}(t)} \right] |u_i(t)| < 0
\end{aligned}$$

Thus, We can learn that when $r = 1$, the conclusions are valid.

Corollary 1. f_j, g_j, h_j are Lipschitz continuous and $\dot{\tau}_{ij}(t) < 0$, if there are constants $r, \omega_i, q_{ij}, n_{ij}, h_{ij}, j_{ij}, l_{ij}, p_{ij}, q_{ji}, n_{ji}, h_{ji}, j_{ji}, l_{ji}, p_{ji} \in R$ ($i = 1, 2, \dots, n$), $\omega_i > 0, r \geq 1$ (when $r = 1$, we must let $q_{ij} = n_{ij} = h_{ij} = j_{ij} = l_{ij} = p_{ij} = q_{ji} = n_{ji} = h_{ji} = j_{ji} = l_{ji} = p_{ji} = 1$),

$$\begin{aligned}
& -\omega_i rd_i + (r-1) \sum_{j=1}^n \omega_i |a_{ij}|^{\frac{r-q_{ij}}{r-1}} |\alpha_j^+|^{\frac{r-n_{ij}}{r-1}} + \sum_{j=1}^n \omega_i |a_{ij}|^{q_{ij}} |\alpha_j^+|^{n_{ij}} + (r-1) \sum_{j=1}^n \omega_i |b_{ij}|^{\frac{r-h_{ij}}{r-1}} |\beta_j^+|^{\frac{r-j_{ij}}{r-1}} \\
& + (r-1) \sum_{j=1}^n \omega_i |c_{ij}|^{\frac{r-l_{ij}}{r-1}} |\gamma_j^+|^{\frac{r-p_{ij}}{r-1}} + \sum_{j=1}^n \omega_i |c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} + \sum_{j=1}^n \omega_i |b_{ij}|^{h_{ij}} |\beta_j^+|^{j_{ij}} + \sum_{j=1}^n \omega_i |c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r < 0
\end{aligned}$$

Then, the equilibrium point of multi-delay and distributed delay cellular neural network x^* is global exponential stability.

Proof. If we design the Lyapunov functional as follows

$$V(u, t) = \sum_{i=1}^n \omega_i \left\{ |u_i(t)|^r e^{\varepsilon t} + \sum_{j=1}^n |b_{ij}|^{l_{ij}} |\beta_j^+|^{j_{ij}} \int_{t-\tau_{ij}}^t |u_j(s)|^r e^{\varepsilon(s+\tau_{ij}(t))} ds \right. \\ \left. + \sum_{j=1}^n |c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} \int_{t-\tau_{ij}}^t |g_j(u_j(\xi))|^r e^{\varepsilon(\xi+\tau_{ij}(t))} d\xi + \sum_{j=1}^n |c_{ij}|^{l_{ij}} |\gamma_j^+|^{p_{ij}} |\beta_j^+|^r \int_0^t |u_j(s-\tau_{ij})|^r e^{\varepsilon s} ds \right\}$$

This proof is similar to the proof of Theorem 3, we can easily derive the result. Its proof is straightforward and hence omitted.

4. Conclusion

A new sufficient condition is derived to guarantee the global exponential stability of the equilibrium point for cellular neural network with multi-delay and distributed delay. Comparing with traditional methods, this approach is effective.

5. References

- [1] P. Balasubramaniam, J. A. Samath, N. Kumaresan and V. A. A. Kumar. Solution of matrix Riccati differential equation for the linear quadratic singular system using neural networks. *Appl. Math. Comput.* 2006, **182**: 1832-1839.
- [2] P. Balasubramaniam, J. Abdul Samath and N. Kumaresan. Optimal control for nonlinear singular systems with quadratic performance using neural networks. *Appl. Math. Comput.* 2007, **187**: 1535-1543.
- [3] A. Bouzerdoum and T.R. Pattison. Neural networks for quadratic optimization with bound constraints, *IEEE. Trans. Neural Networks.* 1993, **4**: 293-303.
- [4] M. Forti and A. Tesi. New conditions for global stability of neural networks with application to linear and quadratic programming problems, *IEEE. Trans. Circuits Syst.* 1995, **42**: 354-366.
- [5] M.P. Kennedy and L.O. Chua. Neural networks for non-linear programming. *IEEE. Trans. Circuits Syst.* 1988, **35**: 554-562.
- [6] S. Arik. Global asymptotic stability of a large class of neural networks with constant time delays. *Phys. Lett.* 2003, **A 311**: 504-511.
- [7] J. Cao and D. Zhou. Stability analysis of delayed cellular neural networks. *Neural Networks.* 1998, **11**: 1601-1605.
- [8] M. Joy. On global convergence of a class of functional differential equations with applications in neural network theory. *J. Math. Anal. Appl.* 1999, **232**: 61-81.
- [9] P. Van den Driessche and X. Zou. Global attractivity in delayed Hopfield neural network models. *SIAM. J. Appl. Math.* 1998, **6**: 1878-1890.
- [10] J. Zhang. Global stability analysis in delayed cellular neural networks. *Comput. Math. Appl.* 2003, **45**: 1707-1720.
- [11] S. Arik. An analysis of exponential stability of delayed neural networks with time varying delays. *Neural Networks.* 2004, **17**: 1027-1031.
- [12] J. Cao and Q. Li. On the exponential stability and periodic solutions of delayed cellular neural networks. *J. Math. Anal. Appl.* 2000, **252**: 50-64.
- [13] T.G. Chu. An exponential convergence estimate for analog neural networks with delays. *Phys. Lett.* 2001, **A 283**: 113-118.
- [14] Z. Liu and L. Liao. Existence and global exponential stability of periodic solution of cellular neural networks with time varying delays. *J. Math. Anal. Appl.* 2004, **290**: 247-262.
- [15] Q. Zhang, X. Wei and J. Xu. Global exponential convergence analysis of delayed neural networks with time varying delays. *Phys. Lett.* 2003, **A 318**: 537-544.
- [16] S. Ruan and R.S. Filfil. Dynamics of two-neuron system with discrete and distributed delays. *Physica.* 2004, **D 191**: 323-342.
- [17] H. Zhao. Global asymptotic stability of Hopfield neural network involving distributed delays. *Neural Networks.* 2004, **17**: 47-53.
- [18] H. Zhao. Existence and global attractivity of almost periodic solution for cellular neural network with distributed delays. *Appl. Math. Comput.* 2004, **154**: 683-695.
- [19] G. Wang. The stability of delayed neural dynamic system. [PhD thesis] Northeast University. Shenyang china (2006) (in Chinese)
- [20] H. G. Zhang. The comprehensive analysis and dynamic characteristics of delayed recurrent neural networks, (2008) Science Press. www.sciencepress.com

- [21] L. Maligranda. Why holder's inequality should be called Rogers' inequality. *Mathematical Inequalities and Applications*. 1998, **1**: 69-83.
- [22] A. P. Chen, J. D.Cao and L.H. Huang. Global robust stability of interval cellular neural networks with time varying delays. *Chaos Solitons and Fractals*. 2005, **23**: 787-799.